NaAM: oo,

q ||i |||
nm _.Irr-_.ll_.|I|_IIII_|I._ i) m. Iq_II_iIIIﬂIII_._

= .t | -1 — _Irlm.lrlrlrlrlrl —_ Imu 4. -
=] S Bl . S w + 4+ A
] - 5 e A e A
2 S E % T B . T o ! TIT T

o ()] i I i e [T E - —

"MK = s e
= Q w I S i I DA T +-+-
= < T ¢ L0 45 3 fagToaadaaads
m.& x 0 Y= %. “._.7_.1“. f|_r|r |rH__ C © “. |”.| .“.l ||_r|H_

£ S o I N N N N R N e v - =+
2K B P < T T A A o N
= o S =) 7 L S o Sttt S A F+—+++—++-+—+-++-+-

g [ T N _|r|r|r|r|r| O e _| I_l
~IE o c o RN 985 — 17T T
d B S T P ssunasan s
e o — = fI7TTIT — & 1 T +—+
o £ © L= _ N e [ © SR =+ |
N 4 —_— = | NI I S R R S T Imul L
B 5 = R i i e S e e e e e
S 3 V = o T © BRI ]
N Q = N R . O r B s
o > © " ot e 2 Tt +—+-
g O 52 5 e s 8 RIS
E o 0 Y o roTTaTT e 2 . T +--
c 0 e = S 4~ A - I 0 B R +—+-
Q o .—Inl“. .MJ Q F _\Qn__u_u FT ®T7I_|I_|I_|I_ o] | N T T -
= S = R e on i i T VU A S A S & A L
o T o © 5 Tttt @ 5 r Tt +—+-
- c @ - - u— N o o s i L [ A e o e s o
5 s &g & 0O 0 =S~ N 0 O B
+J .
° T 25 © 5 g =4 ° g Tt +
= e £ H € |7 +rd W NN -
m 3 T o ey Q - _ I - _ Il — _u I_u T T —
= o £ 0o g E g T Sy Pttt
(] > v o o e I 4 I +—++ 4+t
o o ct= 2y a o T 1y £c - T +—+
T 8¢ it o 0o B T G441 5 B3 S |_
o "n o - b s L] JIrIm.IrI__.II|__..|_IrIrIrIrI_ © o 0 _ — bt — et
ok an 3 e 2— F ' e o m__uﬁll.l_f_ nwn £— Tt -+ |n
> & : i | i o e S o R s T T T T A R
M—wm H Y +J) T .5 . m L F|_||||_|||_|I_||r|_|||_|||r|r|_||_||“ U IWI L |_| I_| I_| N
w :
i -
N

‘pajiqryoxd A
pelqIy; 1201138 ST J09YSII0M ST(] JO uorjonpotdad 10 SUTAd0od poziioyjneu ) s100Ysy IO Yie e
L L | M N 38210 ©

L.6, Page 235




© Great Math Worksheets. Unauthorized copying or reproduction of this worksheet is strictly prohibited.

NAMI: .o

Complete 2 pages (236 & 237) within
te_\tltzlsﬁz Finding the Perimeter 4 minutes with > 95% accuracy.
ni .
of Common Shapes Time Taken............ Total Score:

What is the perimeter of the two shapes?T

' The perimeter of the rectangle is
,4+8+4+8—24ft - 4 ft

- The perimeter of the square is
4+4+4+4=16ft

- Opposite sides of a rectangle have the |
- same length.
AII four sides of a square are the same

Exercise

1. Find the perimeter of each of the following shapes.

a) b)
3 cm 3cm
4 cm 4 cm
c) 6 cm d) 3 ft
4 cm
) > cm f) 4 ft
2 ft
2.5cm \ / 2.5 cm 3 ft >
3cm
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